
.Cy?)!:>::> x ?)!:>::> 3) 3xy ,(a?)!:>::> 2) 2a 

.(2a ,w )'l/N1 ?i)l Nm a) )'l/N1 ?i)l) (2a ,w Oipr.m Nm 2) OipY.lY.l :i::>1m '1:l)?N ,:i,N 

.o,Y.l)1 o,,:i,N +- 5ab2 3ab2 

.o,Y.l)i N, o,,:i,N +- 5ab2 3a 2b2 

: nN:in n,l~:i o,mi o,,:i,N p1 C1t,n,) 1:in,) Ol::>? )lPl 

5ab 2 + 3ab 2 = 8ab 2 

5x + 2x + 4x = (5 + 2 + 4)x = llx 
3x + 4 y - 2x - y = (3 - 2)x + ( 4- l)y = x + 3y 

2x 2 +x+4x 2 -3x+1x =(2+4)x 2 +(l-3+7)x =6x 2 +5x 

1. 3x+4x = 

2. 6x-2x+3x= 

3. 2x+5y-x= 

4. 4 X - 2 y + 2x + 8 y = 

5. 3x 2 -4x + 2x 2 +5x = 



1. 4x +2x+ lOx = 

2. 2x+x+14x= 

3. 6x+llx = 

4. 9a-5a = 

5. 3b+6b-4b= 

6. -5x+2x= 

7. 12a 2 - 20a 2 = 

8. 2a 2 b + 3a 2 b = 

9. -5a 2 +7a 2 -a 2 = 

10. M+8+3M= 

11. -y+5+6y-3 = 

12. -1 Ox+ 7 - 3x + 10 = 

13. - 13 ab 2 + 5 + 3ab 2 + 10 = 

14. -5xy 2 + 2y 2
~ + 4xy

2 
== 

15. 17xy - 7y-3xy == 

16. 2a 2b + 3x 2 y +5a 2b + 10x
2
y == 

17. - 3x + 1 Oy + 8 - 5 x + 20 y == 

18. -10x-5+15xy+8+20x== 

19. - 6x 2 y 3 - 2y3 + 4x 
2
y

3 
+ 10y

3 
== 

20. 3x 2y-8+2x 2 +10-2x
2
Y == 



-
n:uvn n:ncv n:iw,n n:ncv 

7a2b + 13x2y .16 Sy + 2 .11 
30y + 8-8x .17 17 13x .12 

l5xy + I0x + 3 .18 15 10ab2 .13 
8y3 - 2x2y3 .19 xv2 .14 

x2y + 2 + 2x2 .20 14xy 7y .15 

3x +4x = (3+4)x = 7x 

6x - 2x + 3x = (6- 2 + 3)x = 7x 

2x + Sy - x = (2- l)x +Sy= x + Sy 

n:u~n n»cv 
3x .6 
8a2 .7 

5a2b .8 
a2 .9 

4M+8 .10 

1. 

2. 

3. 

4. 4x - 2y + 2x + 8y = ( 4 + 2)x + (8 - 2)y = 6x + 6y 

5. 3x
2 

-4x + 2x 2 +5x = (3+ 2)x 2 + (S-4)x = 5x 2 + x 

1. 4x + 2x + lOx = (4+ 2+ lO)x = 16x 

2. 2x + x + 14x = (2 + 1 + 14 )x = 17 x 

3. 6x + llx = (6+ ll)x = 17x 

4. 9a - Sa = (9 - S)a = 4a 

5. 3b + 6b- 4b = (3 + 6- 4)b = Sb 

6. -5x + 2x = (-5+ 2)x = (-3)x 

7. 12a 2 
- 20a 2 = (12 - 20)a 2 = (-8)a 2 

8. 2a 2b + 3a 2b = (2 + 3)a 2b = Sa 2b 

n:uvn n:ncv n:nvn tDMv-
16x .1 7x .1 
17x Ii .2 7x .2 
17x I• .3 X + Sy .3 
4a .4 6x + 6v .4 
Sb .5 5x2 + x .5 



9. 

10. 

11. 

12. 

13. 

14. 

15. 

16. 

17. 

18. 

19. 

20. 

-5a2 +7a2-a2 =(-5+7-l)a2 =a2 

M + 8 + 3M = (1 + 3)M + 8 = 4M + 8 

- Y + 5 + 6y - 3 = (-1 + 6)y + 5 - 3 = 5y + 2 

- lOx + 7 - 3x + 10 = (-10- 3)x + 7 + 10 = -13x + 17 

- 13ab 2 + 5 + 3ab 2 + 10 = (-13 + 3)ab 2 + 5 + 10 = - lOab 2 + I 5 

-5xy2 + 2y2x +4xy2 = (-5 + 2+4)xy2 = xy2 

17xy-7y-3xy = (17-3)xy-7y = 14xy-7y 

2a 2b + 3x 2y + 5a 2b + lOx 2y = (2 + 5)a 2b + (3+ 10)x 2y = 7a 2b+ 13x 2y 

-3x + lOy + 8-5x + 20y = (-3-5)x + (10 + 20)y + 8 = (-8)x + 30y + 8 

-lOx -5 + 15xy +8 + 20x = (-10 + 20)x-5 +8+ 15xy = lOx +3+ 15xy 

-6x 2 y3-2y 3 +4x 2 y3 +toy3 =(-6+4)x 2 y3 +(-2+10)y 3 =-2x
2
y

3 
+8y

3 

2 2 2 2 2 22 3x2y-8+2x 2 +10-2x y=(3-2)x y-8+10+2x =x y+ + x 



5a · 3b = (5 • 3) ·(a• b) = 15ab 
15ab = 15ba : O'l'J11ln 110 nN nmib m 1n') 
4x ·3y · 7z = (4 ·3· 7) •(x • y • z) = 84xyz 

2x · 6x · 3x = (2 • 6 • 3) • (x. x. x) = 36x 3 

1. 3a · 7b = 

2. 2x•4x = 
3. 12M-2b·3c= 

:2 f'l,,n, 
1. 2x-5x = 

2. llx-4y= 

3. 12M-5b= 

4. (-2x)•(-3b)= 

s. (-30M) · (-20n) = 

6. 2k·1Clc = 

7. (-2x) · 4b · (-3x) = 

8. (-6x) · 7x · (-2b) = 

9. 5x •(-2b)·x= 

10. ( - 22 b) · 3M · ( -b) = 



n:nttm tl~NYJ n:nYJn 1'1!7NYI n:nv,n mMYJ 

20k2 .6 10x2 .1 

24x2b .7 44xv .2 

84x2b .8 60Mb .3 

2lab .1 
8x2 .2 

72Mbc .3 

-10x2b .9 6xb .4 

66b2M .10 600Mn .5 

1. 3a-7b=(3•7)(a·b)=2lab 

2. 2x-4x = (2 · 4)(x · x) = 8x
2 

3. 12M · 2b -3c = (12 · 2 · 3)(M · b -c) = 72Mbc 

1. 2x-5x = (2·5)(x • x) = 10x
2 

2. llx-4y=(ll · 4)(x •y)=44xy 

3. 12M -5b = (12 ·S)(M · b) = 60Mb 

4. (-2x) · (-3b) = (-2) · (-3)(x · b) = 6xb 

5. (-30M). (-20n) = (-30) • (-20)(M · n) = 600Mn 

6. 2k -IOk = (2 · IO)(k · k) = 20k
2 

7. (-2x)-4b· (-3x) = (-2) •4· (-3)(x • b· x) = 24x
2
b 

8. (-6x) · 7x • (-2b) = (-6). 7. (-2)(x • x • b) = 84x
2
b 

9· 5x · (-2b) · x = (5. (-2) -l)(x · b · x) = (-IO)x
2
b 

IO. (-22b) · 3M. (-b) = (-22) . 3 · (-l)(b. M · b) = 66Mb
2 



01,!)r.i onilmn 1u1:i o,,:i,Nn ?:> ,v O'lY.l'On !'IN m'l'l1 m1N \J'Y.l'l'l , on1l1on ')!)? ou,r.i 'l'' 1'l'N:> 
.1!)m,1 ou,r.i, 

.1 

.2 

: mNY.ll11 
+(x + 4y- 3z) = x + 4y- 3z 
-(4a - b2 +Sc)= -4a + b2 - Sc 

1. + (3x + 2a - 4b) = 

2. - (1 la - 4b + 9c) = 

3. -(-13x+5y-4x 2 )= 

1. + ( -2a + b + 3c) = 

2. +(4a-2b+9c)= 

3. -(5x+7y-7y+5y)= 

4. - (2x + lOy- 4x + 3y) = 

S. -(10x-12y+5x)+(7x-4y-12)= 

6. +(x-y+5)-(10y-5y)= 

7. + (2x - 3y) - (5x + 7) + (7 - 3x) = 

8. - (3x + y- 2) + (3y- x + 4)- (-4x + 2) = 

9. +(2x-5y)-(-2y+3-4x)+(6y+x+5)= 

10. - (3 - x) + (3y - 7)- (2x - 5y) = 



1. 

2. 

3. 

1. 

2. 

3. 

4. 

5. 

6. 

7. 

8. 

9. 

10. 

n:uYJn tl~NYJ 
X 6y + 5 .6 

6x 3v .7 
2v +4 .8 

7x + 3v + 2 .9 
10 X + 8y .10 

+ (3x + 2a - 4b) = 3x + 2a - 4b 

- (1 la -4b + 9c) = (-ll)a + 4b-9c 

- (-13x + 5y - 4x 2) = 13x - 5y + 4x 2 

+ (-2a + b + 3c) = (-2)a + b + 3c 

+ (4a - 2b + 9c) = 4a -2b + 9c 

. ' 
tl!llYJn tl~YJ 

2a +b + 3c .1 
4a 2b+ 9c .z 

5x 5y .3 
2x 13v .4 

8x + 8v 12 .5 

- (5x + 7y-7y + 5y) = (-5)x - 7y + 7y-5y == (-5)x -5y 

- (2x + lOy - 4x + 3y) = (-2)x - IOy + 4x - 3y == 2x - 13y 

tl!llYJn 
3x + 2a-4b 

-I la+ 4b-9c 
13x -5y +4x2 

- (lOx -12y + 5x) + (7x - 4y-12) == (-IO)x + 12y-5x + 7x -4y-12 == 

= (-8)x+8y-12 

+ (x - y + 5) - (lOy- 5y) = x - y + 5- lOy + 5y == x -6y + 5 

+ (2x - 3y)- (5x + 7) + (7 - 3x) = 2x - 3y -Sx - 7 + 7 - 3x = (-6)x - 3y 

- (3x + y- 2) + (3y- x + 4)- (-4x + 2) = 
= (-3)x - y + 2 + 3y - x + 4 + 4x - 2 = 2y + 4 

+ (2x -5y)-(-2y + 3-4x)+ (6y + x +5) = 2x-5y+ 2y-3+4x +6y + x +5 = 

=7x+3y+2 

- (3- x) + (3y - 7)- (2x - 5y) = -3 + x + 3y - 7 - 2x +Sy= (-l)x + Sy- 10 

:,~i, 

.1 

.z 

.3 



~1:>!J!l tl""'lll~ ,ir,,,i!> 

, n,z-<r.m, .,::i,Nn mlN:J on,m:m 1,n::i'll o,,::i,Nn 7:, nN 7l!l:>7 u,7y ,o,,,m,7 '(lnr.i ,::i,N ll, 'll''ll:> 

3(x + 4) = (3 • x) + (3 · 4) = 3x + 12 

2x(3x + 5) = (2x • 3x) + (2x · 5) = 6x 2 + IOx 
-3(2y + 7) = (-3• 2y) + (-3 • 7) = -6y- 21 
(x -9)- 4(6- x) = x -9 + (-4 -6) + (-4 · -x) = x -9- 24 + 4x = 5x -33 

1. 3(2x + 7) = 

2. 6x(x +5) = 

3. -4(-x+8)= 

1. 8(10 + 3x) = 

2. 6(7x + 4) = 

3. 5x(2x + 7) = 

4. 6(2x +9-8y) = 

5. 4(3y- l lx + 12) = 

6. 7x(9+3x) = 

7. 2x(l5- x) = 

8. 3a(2b+4) = 

9. 10b(3 + 2a) = 

10. -3(a+l2)= 

11. - 7(3x -11) = 

12. -6(x -9) = 

: 2 :,,,,,, 



13. -5(-2x+4y+2)= 

14. - 8(3x - y + 2) = 

15. -3a(l+b-2c)= 

16. - 7(x - y + 8) = 

17. -5x(3y-x)= 

18. 7( 4x - 5) - 8(x - 2) = 

19. 9(2x + 5)- (3x + 4)8 = 

20. - 9(3x + 4) + 5(4x - 6) = 

:,:wun n»cv :i:n~,n l'1»c~ 
-21x + 77 .11 80 + 24x .1 6x + 21 .1 
-6x + 54 .12 42x + 24 .2 6x2 + 30x .2 

!Ox -20y -10 .13 10x2 + 3Sx .3 4x-32 .3 
-24x + 8v -16 .14 12x + 54-48v .4 
-3a - 3ab + 6ac .15 12v-44x+48 .5 
-7x + 7v -56 .16 63x + 2lx2 .6 
-15xy + 5x2 .17 30x-2x2 .7 

20x- 19 .18 6ab + 12a .8 

-6x + 13 .19 30b + 20ab .9 

-7x-66 .20 -3a- 36 .10 

:1 fl"f'"' 

1. 3(2x + 7) = (3 • 2x) + (3 • 7) = 6x + 2 I 

2. 6x(x +5) = (6x •x)+(6x -5) = 6x 2 +30x 

3. - 4(-x + 8) = (-4 • -x) + (-4 • 8) = 4x - 32 

: z 11,,n, 
1. 8(10 + 3 X) = (8 · IO) + (8 · 3 X) = 80 + 24 X 

2. 6(7x + 4) = (6 • 7x) + (6 • 4) = 42x + 24 



3. 

4. 

s. 

6. 

7. 

8. 

9. 

10. 

11. 

12. 

13. 

14. 

15. 

16. 

17. 

18. 

19. 

20. 

2 5x(2x + 7) = (5x • 2x) + (5x · 7) = lOx + 35x 

6(2x + 9- 8y) = (6 • 2x) + (6 · 9) + (6 · (-8y)) = 12x + 54- 48y 

4(3 y - 11 X + 12) = ( 4 · 3 y) + ( 4 · ( -11) X) + ( 4 · 12) = 12 y - 44 X + 48 

7x(9+3x) = (7x ·9) + (7x · 3x) = 63x + 21x 2 

2x(15- x) = (2x -15) + (2x · -x) = 30x - 2x 2 

3a(2b + 4) = (3a · 2b) + (3a · 4) = 6ab + 12a 

10b(3 + 2a) = (10b · 3) + (10b · 2a) = 30b + 20ab 

- 3(a + 12) = (-3 ·a)+ (-3 -12) = (-3)a - 36 

-7(3x -11) = (-7-3x) + (-7 · (-11)) = (-21)x + 77 

- 6(x -9) = (-6 · x) + (-6 · (-9) = (-6)x + 54 

-5(-2x + 4y + 2) = (-5 • -2x) + (-5 • 4y) + (-5 • 2) = lOx - 20y-10 

-8(3x - y + 2) = (-8 -3x) + (-8 · -y) + (-8-2) = (-24)x + 8y-16 

-3a(l + b- 2c) = (-3a • 1) + (-3a · b) + (-3a · -2c) = (-3)a -3ab + 6ac 

- 7(x - y + 8) = (-7 · x) + (-7 · -y) + (-7 · 8) = (-7)x + 7y-56 

-5x(3y- x) = (-5x · 3y) + (-5x · (-x)) = (-15)xy + 5x 2 

7( 4x - 5) - 8(x - 2) = (7 · 4x) + (7 · -5) + (-8 • x) + (-8. (-2)) = 
= 2&-35--8x + 16= 2Ck-l 9 

9(2x + 5)- (3x + 4)8 = (9 · 2x) + (9 • 5) + (-8 • 3x) + (-8. 4) = 
= 18x +45-24x-32 = (-6)x + 13 

- 9(3x + 4) + 5( 4x - 6) = (-9 · 3x) + (-9 • 4) + (5. 4x) + (5 . -6) = 
=-27x-36+ 20x-30=-7x-66 



: nlNl:)))1 .0'1:J'Nil 1NYJ:J 1:J'N ?:> ?l!>:>? ll'?Y 10'1:J'N :J1 ?!>:> ?'l111 ll? 1YJN:> 

(3+a)(4+ b) = (3· 4) + (3· b) +(a· 4) +(a· b) = 12+ 3b+4a + ab 

- (a - 2)(a + 8) = -(a 2 + 8a - 2a - l 6) = -a 2 -6a + 16 

6(x +5)(x-4) = 6(x 2 -4x +5x-20) = 6x 
2 

+6x-120 

(2 + 3)( 4-1) = 

. 5 · 3 = 15 N"1 ilN~l1lilYJ O'Y11' llN 

: 0"1lltl nn'rl!>:J H ilN~ln? ll'll ON j711:Jl lNi.l 

(2 · 4) + (2 · -1) + (3 · 4) + (3 · -1) = 8- 2 + 12 - 3 = I 5 

1. (a+ 5)(b + 2) = 

2. 3(x + 7)(6 + x) = 

3. - 8(x - 3)(x + 5) = :2 11,,n, 
1. (a +c)(x + y) = 

2. (x + 7)(8- x) = 

3. (a+4)(a-6)= 

4. (x + 2)(x + 7) = 

5. (M - 9)(M + 3) = 

6. (x - 3)(x - 4) = 

7. (n - 9)(5 + n) = 

8. (2x +7)(x +4) = 

9. (2x + 5)(3x + 6) = 

10. (2x + 4)(3x + 8) = 



11. (9x + 5)(2x - 3) = 

12. (Sx - 4)(6x - 3) = 

13. (2y-5)(y+6)= 

14. - (x + 3)(x + 2) = 

15. - 2(x - 9)(x -1) = 

16. 7(x+2)(4-x)= 

17. -(10x+4)(1-x)= 

18. - 3(7x + 1)(2x -1) = 

19. -(3x-5)(9+ x) = 

20. (x - 2)(x + 7) - (x + 3)(x - 6) = 

:i:wun l"l~V :i:i.,vn l"l~V 
18x2 - 17x - 15 .11 ax + av + ex +cv .1 
30x2 - 39x + 12 .12 -X2 + X + 56 _ z_ 
2y2 + 7y -30 .13 a2 -2a-24 .3 
-x2 -5x -6 .14 x2 +9x+l4 .4 

:i:i.,vn mNV 
ab + 2a + Sb + 10 .1 
3x2 + 39x + 126 .z 

-8x2 - 16x + 120 .3 

-2x2 + 20x - 18 .1-5 M2 -6M-27 ' .5 
-7x2 + 14x + 56 / .16 x2 - 7x + 12 .6 

10x2 - 6x -4 .17 n2 -4n -45 .7 
-42x2 + 15x + 3 .18 2x2 + 15x+28 .8 
-3x2 - 22x + 45 .19 6x2 + 27x +30 .9 

8x +4 .zo 6x2 + 28x +32 .10 

I. (a +S)(b+ 2) =(a· b)+ (2-a)+(S· b)+ (5-2) = ab+ 2a +Sb+ 10 

2. 3(x+7)(6+x)=3(6x+x 2 +42+7x)=39x+3x 2 +126 

3. - 8( x - 3)( x + 5) = -8( x 2 + 5 x - 3x - 15) = (-8) x 2 - l 6x + 120 



I. (a+c)(x+y)=(ax+ay+cx+cy) 

2. (x + 7)(8- x) = (8x - x 2 + 56- 7x) = x - x 2 + 56 

3. ( a + 4 )( a - 6) = ( a 2 
- 6a + 4a - 24) = a 2 

- 2a - 24 

4. (x+2)(x+7)=(x 2 +7x+2x+14)=x 2 +9x+14 

5. (M-9)(M+3) = (M2 +3M-9M-27) = M 2 -6M-27 

6. (x - 3)(x - 4) = (x2 -4x - 3x + 12) = x2 - 7x + 12 

7. (n-9)(5 + n) = (5n + n 2 -45-9n) = (-4)n + n2 -45 

8. (2x + 7)( x + 4) = (2x 2 + 8x + 7 x + 28) = 2x 2 + 15x + 28 

9. (2x + 5)(3x + 6) = (6x 2 + 12x + 15x + 30) = 6x 
2 

+ 27x + 30 

10. (2x + 4)(3x + 8) = (6x 2 + 16x + 12x + 32) = 6x
2 

+ 28x +32 

11. (9x +5)(2x -3) = (18x 2 -27x + IOx-15) = 18x
2 

-17x-15 

12. (5x -4)(6x - 3) = (30x 2 -15x - 24x + 12) = 30x 
2 

- 39x + 12 

13. (2y-5)(y + 6) = (2y 2 + 12y-5y-30) = 2y
2 

+ 7y-30 

14. -(x +3)(x + 2) = -(x 2 + 2x +3x +6) = -x
2 
-5x-6 

15. - 2(x -9)(x -1) = -2(x 2 - x -9x + 9) = (-2)x 
2 

+ 20x -18 

16. 7(x+2)(4-x)=7(4x-x 2 +8-2x)=l4x-7x
2 

+56 

l7. -(lOx +4)(1- x) = -l(l0x -10x 2 +4-4x) = (-6)x + 10x
2 
-4 

l8. -3(7x + 1)(2x -1) = -3(14x 2 - 7x + 2x -1) = (-42)x 
2 

+ 15x + 3 

19- -(3x-5)(9+x)=-1(27x+3x 2 -45-5x)=(-22)x-3x
2 

+45 

20. (x - 2)(x + 7)-(x + 3)(x -6) = (x 2 + 7x - 2x -14)-(x 
2 

-6x + 3x -18) = 

= x 2 + 5x -14 - x 2 + 3x + 18 = 8x + 4 



N1i1\!I 1w::io ,2 N1i1 ')311\!lon o,un ,2x + 8 ,11,,JJ ,?\!IO? .0'1J'N 'l\!I 1ml N::!Ol\!I o,u Nm ')31WO 01n 
- l)IJlJi1 31N OlJl'.)11:)i1 Ol1Jll'(i11:) 1nN ,::i 1ml "N::11:))11 

2x = 2 · X 8 = 2 · 4 

31)11? '1::>J ,Oll1l)t)i11)31? Ol)'.)i1? )1N\!ll\!I 0ll:)1Ui1 31N) ,Oll1l10? ~)nl:) ?N ')l1)\!ll:)i1 011li1 31N Nl::l)i1? )31l) 
: Oll1l)Oi1 l)l1J Ol1JlNi10 1nN ,::i, )llli1? ,,:, ,on no p)1J? ))l?)I ,o,,,m,n 1m:::i 31Wl? 1'1::1 i11:) 

2x + 8 => 2·x+2·4 => 2 (x + 4) 

Sy+ 10 => 5·y+5·2 => 5 (y + 2) 

4x + 6x2 => 2x · 2 + 2x · 3x => 2x (2 + 3x) 

x3 + 5x2 => x2 
• x + x2 • 5 => x2 (x + 5) 

1. 3x+15= 4. 2x +6y = 

2. 5xy-10x = 5. 2x2y+6y = 

3. 3b 2 +2b= 

1. Sx -lOy = 

2. fu+42;::: 

3. lOtb+.il= 

4. 2x 2 + 10 X 3 = 

5. 12x 2 +48x= 

6. 2b 2 + b = 

7. 3x 2 - 6x + 9xy = 

8. 4x 2 +12x+8x 3 = 

9. 2ab+4ac= 

10. 15xy + 20yb = 



1"1:Wtltl trncv 1"1:llVfl :rncv 1"1:i,vn :mcv 
b(2b + 1) .6 5(x - 2v) .1 3(x + 5) .1 

3x(x-2 + 3v) .7 6(b + 7) .2 5x(v - 2) .1 
4x(x + 3 + 2x2) .8 5b(2a+ 1) .3 b(3b + 2) .3 

2a(b + 2c) .9 2x2(1 + 5x) .4 2(x + 3v) .4 
5v(3x + 4b) .10 12x(x + 4) .5 2v(x2 + 3) .5 

:111..,,n, 
1. ( 3x 15) 3x + 15 = 3 3 + 3 = 3(x + 5) 

2. (5xy IOx) 2) 5xy-10x=5x --- =5x(y-
5x 5x 

3. { 3b
2 

2b J 3b 2 + 2b = b + b = b(3b + 2) 

4. 2x + 6y = 2( 22x + 6;) = 2(x + 3y) 

5. 2 'y+6y- 2{ 2x'y + 6y J-2y(x' +3) 
X 2y 2y 

: z 11..,,n, 

1. 5x - IOy = 5( 5; - l~y) = 5(x - 2y) 

2. 6b + 42 = 6( 66b + ~) = 6(b + 7) 

3. IO ab + 5b = 5b( IO ab + 5b) = 5b(2a + I) 
5b 5b 

4. ' ' '( 2x' !Ox' J- 2x'(l + 5x) 2x + lOx = 2x --2 + 
2 

2 
2x X 



5. 

6. 

7. 

8. 

9. 

10. 

12x +48x=12x --+- =12x(x+4) 2 (12x
2 

48xJ 
12x 12x 

2 (3x
2 

6x 9xyJ 3x -6x+9xy=3x ---+- =3x(x-2+3y) 
3x 3x 3x 

4x +12x+8x =4x -+-+- =4x(x+3+2x ) 2 3 (4x
2 

12x 8x
3
J 2 

4x 4x 4x 

2ab+4ac=2a -+- =2a(b+2c) ( 
2ab 4ac) 
2a 2a 

{
15xy 20yb) 15xy+20yb=5 -+- =5y(3x+4b) 
5y 5y 
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